N = 0l & At & Ml A

20199 & =3Z 2 3 LA JIEBSEINH F2A4P

SN HBAYD
HE: EAY SHHI 25
S KAFSAE SEI|BRS (S &2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=R 17,620,935 10,511,175 7,109,760
2 1,359,809 59,809 1,200,000
2 3,042,000 3,042,000 0
= 13,219,126 7,309,366 5,909,760
Feae SSUH 2 14,842,420 8,768, 160 6,074,260
2 1,359,809 159,809 1,200,000
s 2,490,000 2,490,000 0
= 10,992,611 6,118,351 4,874,260
NAFEAE HE)BnS 1,298,269 918,269 380,000
CHOISARIIDN 23 730,000 350,000 380,000
405 X4+ 3 S bl 730,000 350,000 380,000
01 YL 2B St 730,000 350,000 380,000
OCISMRIII 23 730,000 350,000 380,000
OIE 49 #IMHA sa 478,000 78,000 300,000
SHOIE 2AANY =X 412,000 112,000 300,000
207 & o4 2 bl 400,000 100,000 300,000
02 & AHH L Y] 400,000 100,000 300,000
OHEOE B8 2HAMY £T 400,000 100,000 300,000
HMRAHY =T 1,443,350 1,369,090 74,260
2 126,225 26,225 0
= 1,317,125 1,242,865 74,260
OIEY DOIE O AL 39,260 0 39,260
201 Yot 2 bl 1,500 0 1,500
01 A2 22l 1,000 0 1,000
OYAANDELHE 2% N - E2SHE S 1,000 0 1,000
03 A2 | 500 0 500
ONZDSUA L HFLSAHSA 225 L
YASE P 500 0 500
301 LB A2 37,760 0 37,760
12 JIEE 43 37,760 0 37,760
ONYDNE BSH - NIFYRNL BS 37,760 0 37,760
Zojel Rsns N (2D) 119,648 84,648 35,000
2 42,324 42,324 0
< 77,324 42,324 35,000
307 812H0| & 118,648 83,648 35,000
2 41,824 41,824 0
< 76,824 41,824 35,000
IR PN 118,648 83,648 35,000
0¥LHDFIIB X 118,648 83,648 35,000
2 41,824 41,824 0
< 76,824 41,824 35,000
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
HEFE =& 1,739,601 1,043,601 696,000
= 33,584 33,584 0
& 1,706,017 1,010,017 696,000
HEZHEANAEY 29I 1,639,870 943,870 696,000
405 XtAtHE SHI 696,000 0 696,000
01 AL ESFH S 696,000 0 696,000
OHHEZBAAE L=FHH ud -2 696,000 0 696,000
dEESIIE 2= 796,200 646,200 150,000
OHMSHM AN L EHE RS 796,200 646,200 150,000
405 XHobF S HI 460,000 310,000 150,000
01 et ESFH S 460,000 310,000 150,000
OMAUEEXMeIANAYE FHINS2HeE2E 7= 150,000 0 150,000
Fazg=egle 2= 4,474,000 0 4,474,000
= 1,200,000 0 1,200,000
=) 3,274,000 0 3,274,000
ADLEAE SEEHE IR F(32) 4,474,000 0 4,474,000
= 1,200,000 0 1,200,000
=) 3,274,000 0 3,274,000
403 X SHHS =0l & 600,000 0 600,000
= 600,000 0 600,000
01 AXISHHA=2E = 600,000 0 600,000
OADIEAE SEEHS I8 2H(EEAM) 600,000 0 600,000
= 600,000 0 600,000
405 THabF S| 3,874,000 0 3,874,000
= 600,000 0 600,000
< 3,274,000 0 3,274,000
01 It ESH SHI 3,874,000 0 3,874,000
OADIEAE SEHEHE I8 2H(ZET) 3,874,000 0 3,874,000
= 600,000 0 600,000
=) 3,274,000 0 3,274,000
ICTE=E A& =4 2,696,100 1,660,600 1,035,500
s 552,000 552,000 0
< 2,144,100 1,108,600 1,035,500
ICTeE =& 2,696,100 1,660,600 1,035,500
s 552,000 552,000 0
< 2,144,100 1,108,600 1,035,500
ADEEO 2HAH ML (I NHEEXE) 535,500 0 535,500
308 MtXIEHSOIH 535,500 0 535,500
TAXNEHBEEXS 535,500 0 535,500
OloT2I8t ADEEO EHAH £24 F& 535,500 0 535,500
LATEQO(SW) OIS AFS (2R EX) 500,000 0 500,000
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SN SAGEA) - MRALY - BES 0l &k o4 0% o Hl D&
308 X EHSOIA 500,000 500,000
1037/ 2S0HUHeB&EEALS I 500,000 500,000
OL2ZEO(SW) OlchE Mg =& 500,000 500,000




